МШУ НАВИС УМШ-М

[image: image1.wmf]149,5

вых

N

=-



 EMBED Equation.DSMT4  [image: image2.wmf]/

дБмГц


Kп = 20 дБ


[image: image3.wmf]0

149,520169,5

N

=--=-



 EMBED Equation.DSMT4  [image: image4.wmf]/

дБмГц


МШУ Б-102


[image: image5.wmf]147

вых

N

=-



 EMBED Equation.DSMT4  [image: image6.wmf]/

дБмГц


Kп = 23,5 дБ


[image: image7.wmf]0

14723,5170,5

N

=--=-



 EMBED Equation.DSMT4  [image: image8.wmf]/

дБмГц



[image: image9.wmf](

)

0

0

10log15,0

 

ш

N

К

Tk

æö

=+=

ç÷

ç÷

×

èø

 дБ
_1363679643.unknown

_1363679934.unknown

_1363679966.unknown

_1363680380.unknown

_1363679658.unknown

_1363679634.unknown

_1363679641.unknown

